Sec 9-5: Adding and Subtracting Rational Expressions
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Instead of multiplying by the denominators in factored form
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It might be easier to just use their expanded form

(2¥10x+28) 5 2 X2 +4x-21)

2 +10x+24 x2+4x-21  x2+10x+24 x244x—21

SxT +Sox+120 + 2XE +EXx-42
G2+ 10x+24) Q2 +4x-21)

IXEESEX 40 _
Your denominator
<x2 +10x + 249(3”2 4 4x— 21> «—— could be the for separate

factor instead:
(X+7)(x-3)(x+4)(x+6)

3 o
A= lox2=20x ©6x>=]150

Simplify.

3 -
4x3 —16x2 -20x  6x2—-150

Ik —5)  b(x=29)

3(x+3) "}X(K-S)(xw:) T CR+5Yx- 2 (X+)

+YYxx+1)

D

7X #¢5S  + 4% diaf 152
1 2x (x2) (x+)

9 X HYS |

L/ IX (x2S (x+))

- X n 4
Simplify. x2+12x+36 x2-x-42

X 4
2+12¢x+36 x2—-x—42

X+ (x+0) (X3 -
S Y o)

D (o) (x+6) (x40 (x=) (x+6)

xl-’lx Yt x5 _2x +24
Kt (x-D 7 (xtL)¥(x )

Simplify. x§3_x2+2i_15+x—?-5
A
(x+§._/ﬁ\\8 @ L 3 (x|
(x#9  X=3 [x2+2x—-15 x+5 (x-3
(x+5)(><—3)

¥X+H0 —Y $2x-9
(x+5) (x-3)




Hwk #8 Sec 9-5
Page 517

Problems 12, 14, 15, 21, 34, 37, 40

You must show work to get credit



